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1)      (   (    )     (    ) ) 

     (   (   )     (   ) ) 

V= -153.2089i + 128.5575j 

W = 175i + 303.1089j 

Total = 21.7911i+ 431.6664j  

T = 432.2161(cos(87.1101
o
)i+sin(87.1101

o
)j) 

It moves along an 87.1101 degree line. 

 

 

2) His flight: V=20(cos(205
o
)i+sin(205

o
)j) 

    Head wind: H=MH(cos(0
o
)i+sin(0

o
)j) 

    Updraft: U=MU(cos(90
o
)i+sin(90

o
)j) 

V= -18.1262i-8.4524j 

H= MHi+0j 

U= 0i+MUj 

V+H+U = 0i+0j 

-18.1262i-8.4524j + MHi+0j+0i+MUj=0 

 

i equation: -18.1262i+ MHi=0 

j equation: -8.4524j+MUj=0 

 

MH=18.1262 = Speed of headwind. 

MUj=8.4524 = Speed of updraft 

 

 

 

 


